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Question Number : 1 Question Id : 2752286034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series:

A,LLP,V,B,E
Options :

1. %=1
2.% P
3.2V
4. ¥ B

Question Number : 1 Question Id : 2752286034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafaRaa g & TTad ug I1d B

A,LLP,V,B,E
Options :

1. %1
2.% P
3.%V
4. ¥ B

Question Number : 2 Question Id : 2752286035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

DF, HJ, LN, , TV
Options :

1. ¥ PR

2. % NQ

3. % MP

4. % PT

Question Number : 2 Question Id : 2752286035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad saen & qu U I1d ox:

DF, HJ, LN, , TV
Options :
1. ¥ PR
2. % NQ
3. % MP




4. % PT

Question Number : 3 Question Id : 2752286036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

HGF, MLK, RQP, WVU,
Options :

1. * ACY

2. % DCX

3. ¥ BAZ

4. % CDW

Question Number : 3 Question Id : 2752286036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad &R e o1 Q1

HGF, MLK, RQP, WVU,
Options :

1. ¥ ACY

2. % DCX

3. ¥ BAZ

4. % CDW

Question Number : 4 Question Id : 2752286037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

V3X, , POR, M120
Options :



1. % 36V
2. ¥ S6U
3. % Q6V
4. % R6U

Question Number : 4 Question Id : 2752286037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafaRad gaen & qu ug I1d &v:
V3X, , POR, M120

Options :

1. % S6V

2. % S6U

3. % Q6V

4, % R6U

Question Number : 5 Question Id : 2752286038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Student : Class
2. # Doctor: Hospital
3. % Artist : Theatre
4. ¥ Chef : University

Question Number : 5 Question Id : 2752286038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiiweul A @ & e Rfd % A TuE B 1 BT, T faeed 3 diF o1 oRE Tl 8| 39 fahcd &1 I &Y oY 30 ¥ 3T B




Options :

1. ® O : e

2. % fafeod® ; sRgdra
3. % HATHR : AR
4.« g9 ; fayfaemeg

Question Number : 6 Question Id : 2752286039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ YAC
2. % JHF
3. % ECA
4. % FDB

Question Number : 6 Question Id : 2752286039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T MU fawed & 9 & T Ay % 3 90 § | 8TalD, Uh fAwed 31 diF &1 de -Te] ¢ | 39 [aded &1 78 &3 oIl 3 ¥ 3T g
Options :

1. ¥ YAC

2. % JHF

3. % ECA

4. ®* FDB

Question Number : 7 Question Id : 2752286040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :

1. # Shirt

2. # Sweater
3. % Jacket
4. % Skirt

Question Number : 7 Question Id : 2752286040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuE 81 gTlTP, T faoed 3/ diF o1 oRE el ¢ | 39 fdhcd o1 I8 oY oY 310 ¥ 3T B
Options :

1. % qC

2. % WX

3. % Sae

4.9 e

Question Number : 8 Question Id : 2752286041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % MC:IG
2. % QL : MP
3. DX :GU
4, % KP:GT

Question Number : 8 Question Id : 2752286041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e fawedl & @ & te g aie T guM B gTaifes, T fAdhed 30 A9 o1 e 181 8| 39 fadhed &1 T &3 S 3+ T 3 g |

Options :




1. % MC:IG
2. % QL:MP
3. DX:GU
4. % XP:GT

Question Number : 9 Question Id : 2752286042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

EHK : ILO :: DQW : ?
Options :
1. * ESB
2. ¥ HUA
3. % GTN
4. % IVB

Question Number : 9 Question Id : 2752286042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadred &1 999 B S R Ue J I UHR I afd § oy IR ¥ k1 Ue Ugd Ue § Yafd 7

EHK : ILO :: DQW : ?
Options :
1. * ESB
2. ¥ HUA
3. % GTN
4. % IVB

Question Number : 10 Question Id : 2752286043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.



Screwdriver : Screw :: Hammer : ?
Options :

1. # Nut

2. # Iron

3. % Nail

4. #* Handle

Question Number : 10 Question Id : 2752286043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [doed &1 999 B S el Ue I I UHR ¥ A&fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g
TpTEaR : U - gUTST : 2

Options :
1. % Ac

2. % gl
3. DId
4. % g&d

Question Number : 11 Question Id : 2752286044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Stallion : Mare :: ?
Options :

1. # Hen : Chicken
2. % Lioness : Lion
3. % Bull : Cow

4. % Bitch : Dog



Question Number : 11 Question Id : 2752286044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT Ig B S Uy T <1 71 Sl ¥ HH ISR § Tafdd ]
m@:@@::?

Options :

1.53@:5{\51'[
2. % IRAT: TR
3. 99 : T

4.*@1%1’&’[:%’[

Question Number : 12 Question Id : 2752286045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

IRX : KUB :: ?
Options :

1. ¥ QCK : OXM
2. % BRK : FUL
3. % HMW : JPZ
4. ¥ MUD : OXH

Question Number : 12 Question Id : 2752286045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS B T B S Uy A ) 12 S S HH YR I Yefia ]

IRX : KUB :: ?
Options :

1. % QCK : OXM
2. % BRK : FUL



3. ¥ HMW : JPZ
4. % MUD : OXH

Question Number : 13 Question Id : 2752286046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If car is bus, bus is scooter, scooter is bicycle, bicycle is boat, boat is aeroplane, aeroplane is helicopter, helicopter is bullock cart, then which of
the following is a transport that can be used in water?

Options :

1. ¥ aeroplane
2. # helicopter
3. * bullock cart
4. % boat

Question Number : 13 Question Id : 2752286046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e PR 59 8, 99 TpcR ¢, WpeR 3P ¢, Wigfohd 19 8, ATd 8418 SIgTS §, 8418 SIeTol SudhIPR 8, RahivR derms! 7, of Fufafad o
Q I 1 uRag Ut & SEAHTS fhaT ST gahdT 82

Options :

1. ¥ §aTs STgTSl
2. % GAIBIR
3. % gt

4, % q1d

Question Number : 14 Question Id : 2752286047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If MATCH = 42, BELIEF = 56, then what is the code for MUSCULAR?
Options :

1. % 70

2. % 81



3.4 90
4. % 100

Question Number : 14 Question Id : 2752286047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& MATCH = 42, BELIEF = 56 8, Al MUSCULAR & iU 18 &1 82
Options :

1. % 70

2. % 81

3.9 90

4. % 100

Question Number : 15 Question Id : 2752286048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If FLAMINGO is coded as AMFLNGOI, then what is the code for PANDEMIC?
Options :

1. % CMIPEDNA

2. % DNPMIECA

3. ¥ ANDPCMIE

4. ¥ NDPAMICE

Question Number : 15 Question Id : 2752286048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g FLAMINGO &1 AMFLNGOI &% &0 8 $If&d faar1 71 8, df PANDEMIC & iU 1S 1 82
Options :

1. # CMIPEDNA

2. % DNPMIECA

3. % ANDPCMIE

4. ¥ NDPAMICE



Question Number : 16 Question Id : 2752286049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

2351 means grapes are very sour
4359 means these are the grapes
3851 means grapes are very healthy
what is the code for very?

Options :
1. %3
2.% 8
3.%5
4. ¥ 1

Question Number : 16 Question Id : 2752286049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T {8d Bis U H,

2351 &I 31’21:% grapes are very sour
4359 DT G{ﬁ% these are the grapes
3851 I 3 ?-f% grapes are very healthy
very & 1%111 CARE I %?

Options :

1. %3

2. % 8

3.%5

4. v 1

Question Number : 17 Question Id : 2752286050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following in a logical sequence:



1. Death
2. Toddler
3. Adult
4. Birth

5. Teen

Options :

1. % 1,5,3,4,2
2.9 4,253, 1
3.% 1,3,5,4,2
4. % 4,2,5,1,3

Question Number : 17 Question Id : 2752286050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad & aifdbe Hr A gafd #3:

1.9
2.ddd]

3. dgh
4.9H

5. fpaIR
Options :
1. % 1,5,3,4,2
2.94,2,5 3,1
3.% 1,3,5,4,2
4, % 4,2,5,1,3

Question Number : 18 Question Id : 2752286051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aman is shorter than Smriti, but not as short as Micky. Priyank is shorter than Sam, but taller than Smriti. Who is the shortest of all?
Options :

1. * Sam



2. % Aman
3. ¥ Micky
4. % Priyank

Question Number : 18 Question Id : 2752286051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T Jfd W BleT B, Al et fora-1 Ster 78 g | fids 99 I Bier &, dfde [ia A da1 8| I § T Blel dH /2
Options :

1. % 3|

2. % 3{HA

3. ¢ Toe!

4. % %

Question Number : 19 Question Id : 2752286052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prachi said to Manish, "You are my mother's father's son-in-laws' son." How is Manish related to Prachi, if Manish's mother has no siblings?
Options :

1. ¥ Brother

2. % Father

3. * Son

4. % Brother-in-law

Question Number : 19 Question Id : 2752286052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR A A & e, "qH AR AT & a1 & gmIe & 8 81 J U ¥ 3 Teifid 8, 3 FY B AT & 1S HIS-a8 TRl 82
Options :

1.v g

2. % U



3. % §c
4. % grar

Question Number : 20 Question Id : 2752286053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anjali, Bidisha, Charlie and Diksha compare their weights. The total weight of Anjali and Bidhisha together is equal to the total weight of
Charlie and Diksha together. But the total weight of Bidhisha and Diksha together is more than that of Anjali and Charlie together. Anjali's
weight is more than that of Bidhisha's. Who among all weigh the least?

Options :

1. # Bidhisha
2. % Anjali
3. % Charlie
4. % Diksha

Question Number : 20 Question Id : 2752286053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fifer, fafe=m, ame 3R e 3= o &t gaT xd o | 3fSifdl 3R fafe=n &1 $at e aom, ! iR e & $d i aoq &
TRIR ¢ | Afe fafe=m siR fen &1 Fa e gorm, siafer SiR @l & o R aom § oifiie 7| ioifer &1 gor fafe=n ¥ sifte g

gt 7 F forgepT o Ie8 &H 82
Options :

1. % fafazm

2. % 3frfar

3.« Tl

4. % dieq

General Ability2

Group Number : 2
Group Id : 275228214

Group Maximum Duration : 0



Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 275228316
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228379
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752286054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of actions, if any, follows from the given
statements.

Statement: Steps should be taken to develop rural areas in India.

Course of Actions:
I : Each village in the rural area should have access to electricity.
IT : There should be a formal education system in the rural areas.

Options :



1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. # Neither I nor II follows

Question Number : 21 Question Id : 2752286054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HY a1 a1 8, o a1 HRATS & &l hH 1 3R 11 AT U § | 3MUp! 37 Y1 ! I HFAT 8, Yl & g JHHId: I1d g 3
o gdiid 811 3mue) g Fufg I R b fRu U ket & 0 # A 19 I, 3fe #1381, A T T Y &1 STERU HRaT B |

HYF: HRd H ITHI01 &3 D1 fABRIG HRA & foll HeH 3T OH MR

HRATE DI HH:

I: ATHT0T &5 H fRYd YA 71 &1 fasTell b Ugd g1+l dTg Tl
I1: JTHIOT &1 § U Siuanias e yorett g arg|
Options :

1. # $Had | IR0 FRAT §

2. % HAd [1 IR0 B §

3. ¥ 13RI ST 3FIERUI Rd §

4. % 1 3R 8 11 SR Rl §

Question Number : 22 Question Id : 2752286055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All pencils are pens.
Statement 2 : No pens are books.

Conclusion I : Some books are pencils.
Conclusion II : Some pencils are pens.

Options :



1. # Only conclusion I follows
2. % Only conclusion II follows
3. % Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 22 Question Id : 2752286055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H gl pUF fRu U 8, o a1 & s 1 3R 11 fRu U § 1 3t 391 U &) o HIFAT &, Y 81 U8 IiHad: I1d ad I e Uedia
11 MUt 78 fufg o § 13 fow e fepef & @ 1 1, afe 1S 81, O AU 71U Sy 1 SrRur axan 8|

HY 1: gt R e B

BHYT 2: BIs HAH fhdls el ol

ey 1. P fobare TR §

fpY 11: F& URId Har g

Options :

1. % acl Feepy [ 3TIR BT R

2. ¢ Had By 11 SRV BT §

3. % [ 3R 11 GF Feeh SFERUT B §
4. % 1 3R A 11 FTHY SITRU HRAT §

Question Number : 23 Question Id : 2752286056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by three conclusions, I, IT and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All watchmen are bodyguards.
Statement 2 : All trainers are bodyguards.

Conclusion I : Some trainers are watchmen.



Conclusion II : Some bodyguards are watchmen.
Conclusion III : Some bodyguards are trainers

Options :

1. % Only conclusion I follows

2. % Only conclusion I and II follows
3. ¥ Only conclusion II and III follows

4. # All conclusions I, II and III follow

Question Number : 23 Question Id : 2752286056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & pY= feu U 8, foges a1 o9 s 1, 11 3R 111 fRT 71w § 1 3TuehY 39 Y=l ) I HFHT 8, Hal 81 I8 I I 92 I fire
Tdid 811 3Tgeh ag fufa o ] o o e sl o @ & a1, afe &12 |, oY 3T 7T = &1 3 aRur axar g

HYT 1: I TBIGR TRED & |
HYF 2: G UfRrere SiTRe® g |

WI:@Q&TWW%I

frpd 11: PO STRe® TPIER B

fpY 111: $B STREH URIE® §
Options :

1. % had (s [ 3ITRU HRT §

2. % PHad IS [ 3R 11 TRV HRd §
3. ¢ $Had FSHY 11 3R 111 3ER0 IR §
4. % Juft Fepdl 1, 11 SR 111 SRRV v §

Question Number : 24 Question Id : 2752286057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, one statement is given, followed by two arguments I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, supports the given statement.

Statement: Should there be only one type of fashion in the entire country?



Arguments:
I. Yes, it will promote equality among the residents of the country.
II. No, the culture of people staying in different regions of the country is different.

Options :

1. # Only argument I is strong

2. % Only argument II is strong

3. % Both argument I and argument II is strong

4. # Neither argument I nor argument II is strong

Question Number : 24 Question Id : 2752286057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HU a1 a1 8, forge 91 &l dh 1 3R 11 feT 7T &1 3ueh! 39 HYUAl &) I A1 ©, Y 81 I8 JTHTId: J1d 97 I e Ui
g1l 31Uy 78 fufg A § 1 fou e aeef & Q & 1, 3fe SIS 8, d f3T 70 Y &1 3R SRl B |

HYT: TR < H Had T g1 YHR B B gHT Agu?

db:

1. 81, 98 X & MRl & St gamar o) S¢rar S|

1. 7Y, 32 & fafts &= & T8 aral vl o) TRl SravT- 3T ]
Options :

1. % Had do [ 99d §

2. ¥ Had do [ 94 8

3. % g 1 3R T [1 H Jad &

4. % 97D [RAE ITA B

Question Number : 25 Question Id : 2752286058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

50:7:82:7
Options :



l.*5
2. % 18
3. % 12
4.9

Question Number : 25 Question Id : 2752286058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 o S R U ¥ I TSR I Taifdrd § o TR I g¥R1 S Ugd Ue J Yefid g

50:7:82:7
Options :

1. %5

2. % 18
3. % 12
4. ¥ 9

Question Number : 26 Question Id : 2752286059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the given equation correct?

18+3+2%x10-6=16
Options :

l. * +and x

2. % +and -

3.4 +and x

4. % +and -

Question Number : 26 Question Id : 2752286059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



it fou 7T g 1 Tl S & fore o 2 fogl &1 TREWR Jg a1 Imfeu?

18+3+2x10-6=16
Options :

1. % + 3R x

2. % - 3R -
3,v/+\3-ﬁT><

4.% 1 3R -

Question Number : 27 Question Id : 2752286060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

17, 50, 149, 446,
Options :
1. ¥ 1337
2. % 1252
3. % 1783
4. % 1461

Question Number : 27 Question Id : 2752286060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad e gadr o 1 &

17, 50, 149, 446,

Options :

1. ¥ 1337

2. % 1252

3. % 1783
4. % 1461



Question Number : 28 Question Id : 2752286061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

17,14, 19, 12,
Options :

1. % 24

2. % 23

3.9 2]

4, % 22

Question Number : 28 Question Id : 2752286061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad e aar & [ &
17,14, 19, 12,

Options :

1. = 24

2. % 23

3.¥21

4. % 22

Question Number : 29 Question Id : 2752286062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between lion, carnivorous and goat?
Options :



OO
. O

&
Q)

Question Number : 29 Question Id : 2752286062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foferfad & ¥ o9 971 39 3IRT TR, AigHel 3R 6l & a1 & JaY B I 33T <2TdT 82

Options :

OO
. O




3.¢¥

4. %

Question Number : 30 Question Id : 2752286063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of people who painted their house in red, yellow and green. How many of these people have painted
their house yellow and green only?

N
4%

Options :
1. %5



2.¥6
3.% 14
4. % 8

Question Number : 30 Question Id : 2752286063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 70 37 SRg & 39 AN o) ST b =11 T © el S TR 1 ofled, Uil SR X W B T 2 1 378 9 fobe Ay 3 309 TR Y
&I T IR XTI T2

G a o
()
"

Options :
1. %5
2.¥6
3.% 14
4. % 8

Question Number : 31 Question Id : 2752286064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following figure, triangle represents fathers, rectangle represents engineers, circle represents pilots. How many fathers are pilots only?



Options :
1. % 16
2.%9
3. % 4
4.9 13

Question Number : 31 Question Id : 2752286064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂﬁaﬁ«r@a&ngﬁﬁ By st o1 ufaffeia wxar g, Simad SSi-eR| &1 UfdfAfia 1§, 91 U] &1 ufaffia Hdl g | foran fOd
UTIde 82

Options :
1. # 16
2.%9



3.% 4
4.4 13

Question Number : 32 Question Id : 2752286065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between vegetables, onions and potatoes?

69
&
(D
- O
HQOO

Question Number : 32 Question Id : 2752286065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

&
(D
O
O

1. ¢

OO

2. %
3. %
4. %

Question Number : 33 Question Id : 2752286066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

SINGE




Question Number : 33 Question Id : 2752286066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o ¥ o W SR 3eBia Uy S1Hfa Bt 4R B qRT Bl 82

+ @@ N/
OV
= /+ - |@ +
Options :




= =
&
1»:?'{ @
- -+
) x U e
= =
v
3% U <
+ -
4% @ )

Question Number : 34 Question Id : 2752286067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

DR 2

Options :




|
®
4. % @

Question Number : 34 Question Id : 2752286067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S Rt Bfa T 3 veR T Tefdrd § o TR 3 gt o1 vl sfa @ Gefid 31

R = -

Options :




|
)
4. % @

Question Number : 35 Question Id : 2752286068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
oAOAO
AAAODO
O0AAA
oAaOAO
OOAAA

1. #®




ADOOAA
OAADOA
ADOOA
ADAOA
. [DAaDADO

> BB
op e
ooo
oc0O
oop

AODDADO
, v DOADA

AOAOA
AODOOA
ADADA
AADDOA
, % [0ADOAD

Question Number : 35 Question Id : 2752286068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

OO
>-p0Ob
OO0

oobre

ooopen




ADOAA
DAADOA
AODOOA
AODAOA
, x [0DADAD

orpbPb
oo0oop b
>OO000
OO0
>O0O0OB

(- v~
>>O0o
ooeop
>OOO0O
(e e

Question Number : 36 Question Id : 2752286069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

GRR® O

(A) (B) (€ (D)

Options :

1. # Image A
2. # Image B
3. % Image C



4. ¥ Image D

Question Number : 36 Question Id : 2752286069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead & @ & 91 fawea yaar # Tad sepfa g2

OO0

(A) (B) (C) (D)

Options :

1. % Bfda
2. % BfAB
3. % BfdC
4. ¥ BfAD

Question Number : 37 Question Id : 2752286070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?

/NN

Options :




vl

i

Question Number : 37 Question Id : 2752286070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad & 9 &1 T SR AHfd Ued &1 Uy AHId 91 & o ST S avd 82



77
= -

Options :

1. ® E"

2. j

3. ® \
/

4, %

Question Number : 38 Question Id : 2752286071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, four position of the same dice is given. Which number will be at the face opposite to the face having the 77

Options :
1.¥4
2. % 8
3.%9
4, % 5

Question Number : 38 Question Id : 2752286071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, T 1 U &1 TR fRUfT & 712 81 7 910 hae & faudid g wae W o It T g

Options :
1.¥ 4
2. % 8
3.%9
4. %5

Question Number : 39 Question Id : 2752286072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



Options :

-
1. %
/
2.9
N/
3. 0%
4. %

Question Number : 39 Question Id : 2752286072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TTE TR BT F, I 3BT &1 7o H R wy i fedhafafga g1



Options :

-
1. #
/
2.9
BI\V4
3. %
4. ®

Question Number : 40 Question Id : 2752286073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?



" X
D X +
" =
Options :
+—CD
1. % =
A
VAN
N4

Question Number : 40 Question Id : 2752286073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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™ X

DK =k
" o
Options :

+ X O
1. % =
VAN

General Awarenessl1

Group Number : 3
Group Id : 275228215
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 275228317
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228380
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752286074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rani ki Vav or 'Queen's Stepwell' is a unique stepwell located in which of the following states?
Options :

1. ¥ Gujarat

2. * Madhya Pradesh

3. % Maharashtra

4. % Tamil Nadu

Question Number : 41 Question Id : 2752286074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ORI

2. % O Y

3. % TERIY

4. % A TG

Question Number : 42 Question Id : 2752286075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dhanuyatra is a great mass festival of Odisha which is based on the noble deeds of Lord
Options :

1. % Ram

2. % Ganesh

3. ¢ Krishna

4. % Hanuman

Question Number : 42 Question Id : 2752286075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA SNTSTM FT TP T WP AIeR g Sl HTaH & HgH ST R 3UIRA g
Options :

1. % XH

2. % IO

3. ¥ U

4. % gJHHI

Question Number : 43 Question Id : 2752286076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Morulem is a traditional folk dance in Goa performed during which of the following festivals?



Options :

1. # Sunburn Festival
2. % Shigmo Festival
3. % Carnival

4. # Lokrang Festival

Question Number : 43 Question Id : 2752286076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRearm it & T UNuRes die 7 3, Prafifed dient 3 3 e 3 AR fsar S 82
Options :

1. % T B8R

2. ¢ AT ABR

3. % piHdd

4. % THAT ABR

Question Number : 44 Question Id : 2752286077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ainchaliyan is a type of religious songs often sung to a newly wed bride or to an unmarried girl, who is expected to get married in near future. It
is associated with which of the following states?

Options :

1. ¥ Himachal Pradesh
2. % Uttar Pradesh

3. ¥ Haryana

4. # Punjab

Question Number : 44 Question Id : 2752286077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3™ U TSR &1 U1fife 1id & o SIRR Tafaanfed gee a1 sifdaned ase! o fore wman oiran 8, et e yidwr #f et gt g |
Tg Ffofea o @ fra a4 Je1 82




Options :

1.  feumad uew
2. % JW UK
3. % gigmon

4, % Golld

Question Number : 45 Question Id : 2752286078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following banks primarily focuses on the development of MSME (Micro, Small and Medium Enterprise) sector?
Options :

1. # State Bank of India

2. % Small Industries Development Bank of India

3. % National Bank For Agriculture & Rural Development

4. #® Reserve Bank of India

Question Number : 45 Question Id : 2752286078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # I &9 91 % T8 U ¥ MSME (J&H, 7Y Ud T IE) & fadmr W $Hfad 82
Options :

1. % YR ¥C dF

2. ¢ YR @Y 3N AN dF

3. % AP Y R UTHI0T o o

4. % YR Rerd d%

Question Number : 46 Question Id : 2752286079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following holds the record of presenting the most number of financial budgets as of April 2020?
Options :



1. # Yashwant Sinha

2. # Nirmala Sitharaman
3. % Morarji Desai

4. ¥ Pranab Mukherjee

Question Number : 46 Question Id : 2752286079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafEd 7 & B offid 2020 95 a3 31fes faciia Tore U B BT RIS 3@ 32
Options :

1. % grad g1

2. % fydar daRmA

Question Number : 47 Question Id : 2752286080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Export-Import Bank of India established?
Options :

1. % 1975

2. %1970

3. % 1996

4. % 1982

Question Number : 47 Question Id : 2752286080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Faid- ST o 1 RITIHT ohd B 715 o1
Options :

1. % 1975



2. #1970
3. % 1996
4. % 1982

Question Number : 48 Question Id : 2752286081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following taxes is imposed on the bodies that have negative externality?
Options :

1. ¥ Pigouvian tax

2. % Tobin tax

3. # Octroi tax

4. # Smith tax

Question Number : 48 Question Id : 2752286081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFgfefad =1 # ¥ S T THRIAS gy ardt fBrl TR T SiidT 82

Options :

1. ¢ fUifaga e

2. % cfeT R

3. % TR Yeh R (3Adhels )
4. % YR

Question Number : 49 Question Id : 2752286082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= GDP (Gross Domestic Product) + NFIA (net factor income from abroad).

Options :
1. #* Net Domestic Product
2. #* Net National Product



3. % Net national expenditure
4. ¥ Gross National Product

Question Number : 49 Question Id : 2752286082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
— GDP (Y& d TR 3d1G) + NFIA (I3 ¥ Y[ HRF 3M) |

Options :

1. % A9 <= Id1g
2. % YgIP IAIG
3. % e AT Y

4. ¥ b AP IATG

Question Number : 50 Question Id : 2752286083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the chemical process in which different types of chemical reactions involved in controlling the living state of the cells in an
organism.

Options :

1. ¥ Metabolism
2. % Respiration

3. # Transportation

4. ¥ Reproduction

Question Number : 50 Question Id : 2752286083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ue e ufshar & FSad Sita § pifRrersht o sifad sawn &) fafEa e & o fafis yer &t samafe ufafearn
e gl g |
Options :
1. ¢ Ty
2. % Hqq




3. % URdgH

4. % TS

Question Number : 51 Question Id : 2752286084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The lens focuses light on the back of the eye. The back of the eye is known as

Options :
1. # cornea
2. # iris
3. % lens

4. ¥ retina

Question Number : 51 Question Id : 2752286084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3118 & YIS YT ) dhivsd HaT & | 317G & Ui & U ! & T ST ST g |
Options :

1. # W=dHUSA

2. % 3R

3. % oY

4. ¢ TP UcA

Question Number : 52 Question Id : 2752286085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following national parks is located in Manipur?
Options :

1. ¥ Coringa Wildlife Sanctuary

2. ¥ Keibul Lamjao National Park

3. # Jim Corbett National Park



4. ¥ Nagarhole National Park

Question Number : 52 Question Id : 2752286085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafarad st Sam! & 9 S a1 aforgR & fRd 3
Options :

1. % DI Gelld SHHIRTY

2. ¢ HUGA ATHSTISHI AP I

3. % o Pldc AP ITH

4, % AVREIA AP I

Question Number : 53 Question Id : 2752286086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Parrot belongs to which of the following classes of vertebrates?
Options :

1. % Reptilla

2. % Amphibia

3. ¥ Aves

4. % Pisces

Question Number : 53 Question Id : 2752286086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diar fafaRad o O foy HRIsfeal & o 3 Hefdd g2
Options :

1. % T¥gy

2. % JHIR

3. ¥ Ufayg

4. % A T (UT3T3Y)



Question Number : 54 Question Id : 2752286087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rickets is caused due to the deficiency of which of the following vitamins?
Options :

1. # Vitamin A

2. # Vitamin E

3. #® Vitamin C

4. % Vitamin D

Question Number : 54 Question Id : 2752286087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 IR fAafeRad faeriq § 9 fhas! sl & SR Bl 82
Options :

1. % fqerti= A

2. % {qeIff E

3. % faerfid ¢

4. ¢ fqeif®= D

Question Number : 55 Question Id : 2752286088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following lines separates India and Pakistan?
Options :

1. # Durand Line

2. % MacMohan Line

3. ¥ Hindenburg Line

4. ¥ Radcliffe Line

Question Number : 55 Question Id : 2752286088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 9 o1 T W1 URA 3R UTfhedT T 3T Bl 82
Options :

1. % gRUS Wl

2. % ApHGT @l

3. % fggaent war

4. ¥ TSfaawm

Question Number : 56 Question Id : 2752286089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indravati river is the tributary of which of the following rivers?
Options :

1. # Krishna

2. ¥ Godavari

3. ¥ Narmada

4. ¥ Mahanadi

Question Number : 56 Question Id : 2752286089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Saradt 74! Fafafed # 9 feg 79d 31 Judt 82
Options :

1. * WU

2. ¢ Terad]

3. % FHar

4. % TR

Question Number : 57 Question Id : 2752286090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following type of mountains is also known as "Mountains of Accumulation"?
Options :

1. # Block Mountains

2. # Residual Mountains

3. % Volcanic Mountains

4. % Fold Mountains

Question Number : 57 Question Id : 2752286090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiRed & © frg gdd &1 4ifd yaa" & &0 8 o 1 91 62
Options :

1. % JUS Udd

2. % JIfRIY ydd

3. ¢ SATATYE! Udd

4. ® gferd uda

Question Number : 58 Question Id : 2752286091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following soils is formed as a result of high leaching?
Options :

1. ¥ Laterite

2. # Black

3. ¥ Red

4. % Arid

Question Number : 58 Question Id : 2752286091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ & 9 a1 & 3= ferad & uRume= §d! 82




Options :
1. ¥ d_e
2. % DIl
3. % ol
4. % T&H

Question Number : 59 Question Id : 2752286092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the founder of the Chalukya Dynasty?
Options :

1. % Adityal

2. % Krishna I

3. % Pulakeshin I

4. % Kokallal

Question Number : 59 Question Id : 2752286092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o ¥ & aTged JASa & GRS 72
Options :

1. % affea 1

Question Number : 60 Question Id : 2752286093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Bengal Sati Regulation which banned the Sati practice in all jurisdictions of British India was passed in
Options :



1. * 1792
2. % 1838
3. # 1850
4.+ 1829

Question Number : 60 Question Id : 2752286093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST It fafrom forgm fafewr yRa & 9 =araraal & Tt vt wR ufasy &@m fear a,

Options :
1. % 1792
2. % 1838
3. % 1850
4.+ 1829
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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228381
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752286094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Simla Conference of was a meeting between the Viceroy of India Lord Wavell and the major political leaders of British India at
Simla.

Options :
1. ¥ 1945
2. % 1919
3. % 1928
4. % 1936

Question Number : 61 Question Id : 2752286094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 R T YR & IEIRA dls ddd 3R e YR & TE JoHiiad Adisfl & dig fRiar § g5 U@ 96 A

Options :
1. ¥ 1945
2. % 1919
3. % 1928
4. % 1936

Question Number : 62 Question Id : 2752286095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The Indian Council Act passed in 1909 was popularly known as

Options :

1. # Wavell Plan

2. # Charter Act

3. % Morley Minto Reforms
4. # Pitt's India Act

Question Number : 62 Question Id : 2752286095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1909 H UTRd HRciTa uRye fAgH &1 o BT ATH Y ST ST AT |
Options :

1. % dad gIel

2. % IR AT

3. ¢ Hidl fHel guR

4. % fOe o1 YRJ 3ifefram

Question Number : 63 Question Id : 2752286096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Surat Split was the splitting of the Indian National Congress into two groups - the Extremists and the Moderates - at the Surat session in

Options :
1. % 1918
2. %1907
3. % 1932
4. % 1885

Question Number : 63 Question Id : 2752286096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



B9 T gUERd AU, YR I8 S & o SHg! - SUdted! $iR AREURE $T fauTer ol
Options :
1. % 1918
2. ¥ 1907
3. % 1932
4. % 1885

Question Number : 64 Question Id : 2752286097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which of the following films did Bhanu Athaiya receive an oscar for the best costume designer?
Options :

1. % Swades

2. % Lagaan: Once Upon a Time in India

3. ¥ Gandhi

4. # Slumdog Millionaire

Question Number : 64 Question Id : 2752286097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 fod fieem & o WTg o1t &1 a9y Fiveyd feus—R & forg s fiam
Options :

1. % Wy

2. % WM. 99 3{UI U CT3H 3 §f$a1

3. el

4. % TAHSH fHferR

Question Number : 65 Question Id : 2752286098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following books is written by Salman Rushdie?



Options :

1. #® The King of Dark Chamber
2. ® The End of Imagination

3. #¥ Between the Assassinations
4. ¥ The Enchantress of Florence

Question Number : 65 Question Id : 2752286098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ¥Rl A FafaRad 7 3 o 9t fhare fordt 2
Options :

1. % b1 3{fth ST TR

2. % TS 31 SHSHTH

3. % fqediF g SregfRmzH

4. ¢ T THCY 3 FIRY

Question Number : 66 Question Id : 2752286099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first chairman of the ISRO?
Options :

1. # Satish Dhawan

2. % Vikram Sarabhai

3. # Shailesh Nayak

4. % A.S. Kiran Kumar

Question Number : 66 Question Id : 2752286099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead # ¥ S 3R (ISRO) & Usd 3rege U2

Options :



1. % gi=r gaq

2. ¢ I T IRIHTS

3. % QAR AR

4. % U 09, foxu $AR

Question Number : 67 Question Id : 2752286100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the first session of United Nations held?
Options :

1. ¥ London

2. % Paris

3. % Geneva

4. % New York

Question Number : 67 Question Id : 2752286100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYerd Y BT Ugell G Dl ST fobam T ure
Options :

1. ¢ ded

2. % URY

3. % foMar

4. % gl

Question Number : 68 Question Id : 2752286101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following famous NBA players died in a helicopter crash in January 20207
Options :

1. % Kevin Durant



2. ¥ Kobe Bryant
3. % James Harden
4. # Stephen Curry

Question Number : 68 Question Id : 2752286101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed ulis NBA fearfsal & @ & SHast 2020 T TH §AHBIPR gUeAT § HRT T
Options :

1. % hidd S

2. ¢ Bldl ST

3. % S gred

4. % T B

Question Number : 69 Question Id : 2752286102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following state’s cabinets passed a resolution to abolish the Legislative Council on 27th January 2020?
Options :

1. # Tamil Nadu

2. # Mabharashtra

3. % Andhra Pradesh

4. % Madhya Pradesh

Question Number : 69 Question Id : 2752286102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofefad 5 9 feg g & @Rdsd 7 27 99031 2020 & f3UT uRve &1 GuT B3 1 URd1d uTid fwam

Options :
1. % diEe g
2. % HeRIY




3.« Y TS
4. % AY YUY

Question Number : 70 Question Id : 2752286103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Innovation Cell of the Ministry of Human Resources Development and All India Council for Technical Education in collaboration with
Forge and InnovatioCuris launched a mega online challenge called to test the ability of students to innovate.

Options :

1. ¥ SAMADHAN
2. % PARIKSHA
3. % JEEVAN

4. % SUVIDHA

Question Number : 70 Question Id : 2752286103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIS 3R ZAIAREIRRY & YgaiT ¥ AT TA1eH HATTT & S19%H I 3R fd YRdTg de-ita! Riem ulkve 3 S ot TaeR &t
&7 BT URI&0T R o fard IS T T AR dal & D |

Options :

1. ¢ QY

2. % gar

3. % Gita

4. % gfayr

Question Number : 71 Question Id : 2752286104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the rank of India as per Global Talent Competitive Index (GTCI) 2020 released at the annual meeting of the World Economic Forum
(WEF)?

Options :

1. % 85



2. % 63
3. % 54
4.4 72

Question Number : 71 Question Id : 2752286104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fasy onfiie T & a1 dod & SIRT Ay UfaHT Uil aahias 2020 & SR HRA B & T 82
Options :

1. % 85

2. % 63

3.% 54

4. ¥ 72

Question Number : 72 Question Id : 2752286105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 29 and 30 of the Indian Constitution deals with the
Options :

1. # Right to Freedom

2. # Right to Equality

3. % Right Against Exploitation

4. ¥ Cultural and Educational Rights

Question Number : 72 Question Id : 2752286105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WA &7 /g6 29 3R 30 EEEIRCE
Options :

1. % WA BT HTHR

2. % UM BT AHYBR




3. % YU & RIATH SMfIBR
4. ¥ FRGTAD R fED SHYPR

Question Number : 73 Question Id : 2752286106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of "Freedom of trade and commerce" in the Indian Constitution is borrowed from the constitution of which of the following
countries?

Options :

1. ¥ Australia

2. % Canada

3. % United States
4. % Japan

Question Number : 73 Question Id : 2752286106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR FfaYT # "R SR 10ed ST Waad Bt S@URuN Hafared # ¥ iy 1 & 9y § SyR o 715 82
Options :

1. ¢ 3fiecfer

2. & DTSl

3. % ggoad I

4, % U

Question Number : 74 Question Id : 2752286107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following constitutional amendments incorporated Goa, Daman and Diu in the Indian Union?
Options :

1. ® 5th

2. % 18th

3. % 22nd



4. ¥ 12th

Question Number : 74 Question Id : 2752286107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed & 3 forg ddene S=Nem A Tar, g0 SR €19 & YR 39 3 =i fasam
Options :

1. % 59

2. % 189

3. % 22d

4.9 12d

Question Number : 75 Question Id : 2752286108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Lord Mountbatten address the Constituent Assembly for the last time?
Options :

1. % 1945

2. % 1946

3.9 1947

4. % 1948

Question Number : 75 Question Id : 2752286108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dls ARdcee A R IR foog 9o H Tide quT o1 Falferd fobar o
Options :

1. % 1945

2. % 1946

3.9 1947

4. % 1948




Question Number : 76 Question Id : 2752286109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many teams participated in the 1975 Cricket World Cup?
Options :

1. % 12

2.% 10

3.8

4. % 14

Question Number : 76 Question Id : 2752286109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1975 & fobabe fay U H forait Sl = Wi feram
Options :

1. % 12

2. %10

3.8

4. % 14

Question Number : 77 Question Id : 2752286110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following holds the record of winning the most ATP Masters 1000 singles titles in tennis as of April 2020?
Options :

1. ¥ Rafael Nadal

2. % Novak Djokovic

3. # Roger Federer

4. # Andy Murray

Question Number : 77 Question Id : 2752286110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 ¥ o 3Ud 2020 T 9 & Taiftie ATP ARSH 1000 Thd RAdTe Siid &1 Repie @1 82
Options :

1. ¥ YPIUT 98T

2. % qgTh SibIaa

3. % IR B

4. % TSR

Question Number : 78 Question Id : 2752286111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Indian women has scored the highest aggregate runs in the Women's ODI cricket format as of April 2020?
Options :

1. % Harmanpreet Kaur

2. % Smriti Mandhana

3. ¥ Mithali Raj

4. ¥ Deepti Sharma

Question Number : 78 Question Id : 2752286111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ fg yRdia Afger 3 eild 2020 T Afgar ODI fhdbe URET H Jad 31fdeh 39 ST 52
Options :

1. % gIHAHA R

2. % Wfd HYMr

3.  TocTedt et

4. % ey gi

Question Number : 79 Question Id : 2752286112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams holds the record of the highest team score in the Under 19 Cricket World Cup as of April 2020?
Options :

1. * England

2. ¥ Australia

3. % India

4. % New Zealand

Question Number : 79 Question Id : 2752286112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafad § @ o B A1 3l 2020 9 3R 19 fobdbe fay HU H Faf 0 TR &1 Repie Tadl 22
Options :

1. % QS

2. ¢ JiReferar

3. % YRd

4. % Y03

Question Number : 80 Question Id : 2752286113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Beighton Cup is associated with which of the following sports?

Options :

1. # Cricket

2. ® Golf

3. ® Table Tennis
4. ¥ Hockey

Question Number : 80 Question Id : 2752286113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &y Fgfifed ¥ 4 fod Wd 3 3182



Options :

1. % fopdhe

2. % Tt

3. % ¢qd <A
4. ¢ gla!

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :
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Number of Questions to be attempted :
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0
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Question Number : 81 Question Id : 2752286114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least number by which 588 must be multiplied to make it a perfect square?
Options :

1. %2

2.¥3

3.%6

4. %9

Question Number : 81 Question Id : 2752286114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH TS 1 g S GRT 588 B 0 o ST =1fgy arfes a8 U quf o a2
Options :

1. % 2

2.¥3

3.% 6

4.%9

Question Number : 82 Question Id : 2752286115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of fractions M and N is 9/8. What is the value of fraction N if fraction M is half of fraction N?
Options :

1. % 3/4

2. % 9/16

3.¥°3/2

4. % 9/4

Question Number : 82 Question Id : 2752286115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fir M SR N &1 oH%d 9/8 §1 afe fid M, fid N &7 ofrel &, af e N T A Ja1 62
Options :

1. ® 3/4

2. % 9/16

3.¥°3/2

4. % 9/4

Question Number : 83 Question Id : 2752286116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of LCM and HCF of two numbers is 216. The difference of the two numbers is 6. What are the numbers?
Options :

1. % 12,18

2. % 2228

3. % 18,22

4. % 28,32

Question Number : 83 Question Id : 2752286116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l TeAneft o T THIAS 3R HedH JHIAAS BT UHHA 216 | & T3l 61 3R 6 ¢ | AT o1 82
Options :

1.¥ 12,18

2. % 2228

3. % 18,22

4. % 2832

Question Number : 84 Question Id : 2752286117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A contractor pays Rs. 100 to a worker for each day and the worker forfeits Rs. 40 for each day if he is idle. At the end of 30 days, the worker gets



Rs. 2300. For how many days the worker was idle?
Options :

1. ® 7 days

2. ¥ 5 days

3. % 8 days

4. % 6 days

Question Number : 84 Question Id : 2752286117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3HER U &7 P folT T AVGR T 100 FUT BT YT PRl § 3R AvieR T o & e 40 Iuw @ a1 € afe a8 SdR 31 30
f & ofd H, Holgr &1 2300 ¥UT fed § | AvTeR fbaq Tl & forg &R U

Options :
1. % 7faq
2.¢ 5fea
3. % gfaA
4. % 6faq

Question Number : 85 Question Id : 2752286118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of 15, 17, 19, 21...... 35, 37,397
Options :

1. % 21

2. % 23

3. % 25

4.9 27

Question Number : 85 Question Id : 2752286118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15,17, 19,21 ...... 35, 37, 39 BT 3¥9d FT 52



Options :
1. % 21
2. % 23
3. % 25
4. 27

Question Number : 86 Question Id : 2752286119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the single equivalent discount of 5 percent, 8 percent and 14 percent?
Options :

1. ¥ 24.836 percent

2. % 27 percent

3. % 26.32 percent

4. % 25.15 percent

Question Number : 86 Question Id : 2752286119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 Tfaerd, 8 Ufa=rd iR 14 Ufa<rd & THG e Thd e 1 82
Options :

1. ¢ 24.836 U=

2. % 27 fa=rd

3. % 26.32 Ufd=Id

4. % 2515 Yia=rd

Question Number : 87 Question Id : 2752286120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two house groups - Red group and Blue group in a school, consisting of 40 and 50 students respectively. If the average weight of red
group is 52 Kg and that of Blue group is 45 Kg, then what is the average weight of all group students?

Options :



1. * 45
2. % 43
3. # 46.55
4.9 48.11

Question Number : 87 Question Id : 2752286120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS faered 7 €1 8189 U - Y8 U 3R & YU &, o0 HHn: 40 3R 50 B3 &1 Al Y8 U 1 3Md Il 52 kg § 3R & YU BT a0 45 kg
g, O I TE & B BT 3T g W%

Options :

1. % 45

2. % 43

3. % 46.55
4.9 48.11

Question Number : 88 Question Id : 2752286121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Present population of a city is 70000. It increases at the rate of 4 percent per year. What will be the population after 2 years ?
Options :

1. % 75752

2. % 72754

3.9 75712

4. % 73425

Question Number : 88 Question Id : 2752286121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG ! IAHA SHEBIT 70000 & | T8 Ufd a9 4 Ufd=rd &) er q g 81 2 I a1 Sisve o gifle
Options :

1. % 75752




2. % 72754
3. ¥ 75712
4. = 73425

Question Number : 89 Question Id : 2752286122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The students need to get 45 percent to pass an exam. Abhishek got 120 marks and fails by 60 marks. What were the maximum marks for the
exam?

Options :
1. * 300
2.9 400
3. % 500
4. * 600

Question Number : 89 Question Id : 2752286122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Bl T TRte § Il B & ToIU 45 UI=Id Ut &3 o1 STauehdl 8 | 31T Y 120 3idh feld 8 3R 60 3ipl I fard gl ST g1
TRI&T & forg Sifeiehad sfe om 42

Options :

1. % 300

2. ¢ 400

3. % 500

4. % 600

Question Number : 90 Question Id : 2752286123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the sale, a shopkeeper first increased the rate of its products by 15 percent and then offered a discount of 15 percent. What is the change in
the rate of products in comparison to the original?

Options :



1. ¥ 2.25 percent
2. % 2 percent
3. % 1.50 percent
4. % 1 percent

Question Number : 90 Question Id : 2752286123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forept & foTQ, Ueh ghTFeR 3 U8 30 ITG! Bt @R H 15 Ufa=d &1 gfg o1 3R bR 15 ufarid &t ge & ga &1 ga1 & Iaral &t e o
Ufad T 82

Options :

1. ¢ 2.25 gfd=rd

2. % 2 YfcRrd

3. % 1.50 Gfc=rd

4. % 1 gia=rd

Question Number : 91 Question Id : 2752286124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of gram flour is 20 percent costlier than wheat flour. How much percent is the price of wheat flour is less than gram flour?
Options :

1. # 83.33 percent

2. % 76.23 percent

3. % 25.11 percent

4. ¥ 16.67 percent

Question Number : 91 Question Id : 2752286124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g & 31 B! I & 3T B ANT 20 UG AT B 1 g & 311 B! AN 39 ¥ e vfrera 71 82

Options :



1. % 83.33 Ufdrd
2. % 76.23 Ufa=rd
3. % 2511 gfaerd
4. ¥ 16.67 Ufa<Id

Question Number : 92 Question Id : 2752286125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy bought an old music system for Rs. 1000 and spent Rs. 200 on repairing it. He sold it for Rs. 1140 to his friend. What is his loss percent?
Options :

1. # 20 percent

2. % 16 percent

3. % 8 percent

4. ¥ 5 percent

Question Number : 92 Question Id : 2752286125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ASP A 1000 3T H Th RIAT Giiid T WileT 3R 39! AT TR 200 TUT W fbU | 3T 30 A BT 1140 $UT A 33 99 faar|
3T g1 ufar=rd o g2

Options :

1. % 20 gfard
2. % 16 Ufa=id
3. % g gfa=rd
4. ¢ 5 Yfa=d

Question Number : 93 Question Id : 2752286126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dealer makes a profit of 10 percent even after giving a 10 percent discount on the marked price of a dining set. If he makes a profit of Rs. 900
on the sale of the dining set, what is the marked price?

Options :



1. # Rs. 9000
2. % Rs. 8500
3. ¥ Rs. 11000
4. * Rs. 10200

Question Number : 93 Question Id : 2752286126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faghdT STeHT Ie @t fRifgd Teg W 10 UfAd &1 ge 31 & a1 off 10 ufawra o1 any iifa #rar 81 3 a8 S I o faw! w900
BT BT 1Y 3ol HT 8, T Filed Hed 1 82

Options :

1. # 9000 >4y

2. % 8500 ®UU

3.9 11000 49T

4. % 10200 Ul

Question Number : 94 Question Id : 2752286127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shabana offers a discount of 8 percent on a product and still makes a profit of 15 percent, what is the actual cost of the product if the marked
price of that product is Rs. 1200 ?

Options :

1. ® Rs. 1104
2. ¥ Rs. 960
3. ®* Rs. 1180
4. % Rs. 1080

Question Number : 94 Question Id : 2752286127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fhft IaTe IR 8 Ufaerd &1 ge St § R bR ot 15 ufa=rd &1 @y sifsia et 8, SdTE &1 aRdfad arTd &1 § dfe; 39 341G &1
fafed gedr 1200 ¥UTG?




Options :

1. % 1104 >49Q
2. % 960 >UUQ
3. % 1180 >UUT
4. % 1080 U7

Question Number : 95 Question Id : 2752286128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 200 liters of a mixture, milk and water are in the ratio 7 : 3. How much water should now be added so that the ratio of milk and water becomes
2:1?

Options :

1. ¥ 10 liters
2. % 14 liters
3. % 12 liters
4. % 20 liters

Question Number : 95 Question Id : 2752286128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

200 TR & Ao H, g SR Ut 7: 3 & SguTd H €1 31 ford=1 Uit SiST ST et anfds g SR Uit &7 31Ut 2 : 1 81 STe?
Options :

1. 10 TIcR

2. % 14WIR

3. % 127R

4, % 20 dfle”

Question Number : 96 Question Id : 2752286129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a bag there are notes of Rs. 10, Rs. 20 and Rs. 50 in the proportion 3 : 4 : 5. If there are in all Rs. 1800. What is the number of notes of Rs. 50?
Options :



1. = 15
2. %20
3.¥ 25
4. % 30

Question Number : 96 Question Id : 2752286129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP STH 10 FUT, 20 T 3R 50 SYTHI AR, 3: 4 : 5P SIUT A & | Al X Hot FAATHR 1800 FUT § | Y 50 FUY T At bt Ta
forat 82

Options :

1. % 15

2. %20

3.¥25

4. % 30

Question Number : 97 Question Id : 2752286130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three numbers are in the ratio 7 : 2 : 8. Sum of the, difference of first and second number and sum of second and third number is 90. What are
the numbers?

Options :

1.9 42,12,48
2.% 14,4,16
3.%21,6,24
4. % 28,8,32

Question Number : 97 Question Id : 2752286130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JF TeATE 72 2 : 8 % ST H & | TR SR GURT TS HT e 3R GURT TR sy ST & TN, T AT 90 & | AT o1 62

Options :



1.¥42 12,48
2.% 14,416
3. % 21,6,24
4. % 288,32

Question Number : 98 Question Id : 2752286131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of incomes of Sunil and Raju is 5 : 2. The ratio of their savings is 13 : 4. If each of them spend Rs. 4000 from their incomes. What are
the incomes of both?

Options :

1. % Rs. 10000, Rs. 4000
2. % Rs. 6000, Rs.2000

3. ¥ Rs. 30000, Rs. 12000
4. % Rs. 20000, Rs. 8000

Question Number : 98 Question Id : 2752286131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G SR IS DT 3T BT UM 5 : 2 8 37! §ad BT U 13 : 4 81 fS I7H T TS I 31T T 4000 $UT T Hd & | Al QI bl
3T R 67

Options :

1. % 10000 ®UT, 4000 >UU

2. % 6000 %UT, 2000 297

3. % 30000 ®UT, 12000 29T

4. % 20000 YU, 8000 ¥UU

Question Number : 99 Question Id : 2752286132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should be the least number of years in which the simple interest on Rs. 2500 at 4.5 percent p.a. will be an exact number of rupees?
Options :



1. * 1
2.¥2
3.%3
4. % 4

Question Number : 99 Question Id : 2752286132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 Y DY foba oy g =1feT fored ufd o 4.5 Ufrd &1 &R ¥ 2500 FUT UR BT HIYRUT TG, $UY b BT BT F b BT
Options :

1. %1

2.¥ 2

3.%3

4. % 4

Question Number : 100 Question Id : 2752286133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference in simple interest and compound interest on a certain sum of money in 2 years at 12 percent p.a. is Rs. 1728. What is the sum?
Options :

1. ¥ Rs. 120000

2. % Rs. 98000

3. % Rs. 60000

4. % Rs. 12000

Question Number : 100 Question Id : 2752286133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g oy 12 iR WR 2 98 H e FAfEd e MR R QreRor 1ot SR Tehgfa ST &1 3R 1728 ¥UT g | 1R 31 82
Options :

1. ¥ 120000 UU




2. % 98000 ®UU
3. % 60000 ¥UU
4. % 12000 24U
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Question Number : 101 Question Id : 2752286134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
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Yes
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Yes



Correct Marks : 1 Wrong Marks : 0.25

On a sum of money, the simple interest for 2 years is Rs. 200, while the compound interest is Rs. 205, the rate of interest is same in both cases.
What is the rate of interest?

Options :

1. % 10 percent
2. ® 8 percent
3. % 4 percent
4. ¥ 5 percent

Question Number : 101 Question Id : 2752286134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AR WR, 2 T4 o fo1g AR ST 200 TAU §, STaids Iohgfeg ST 205 ¥UT 8, QI HIHA! H 19T &X JHM § | TS &% T 87
Options :

1. % 10 gfa=rd

2. % g yfard

3. % 4yfa=rd

4. 5 9faed

Question Number : 102 Question Id : 2752286135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 50000 is lent out at the rate of 6 percent p.a. compounded annually. What will be the amount after 3 years?
Options :

1. * Rs. 60000

2. ¥ Rs. 59550.80

3. ¥ Rs. 55050.50

4. % Rs. 58570.25

Question Number : 102 Question Id : 2752286135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I gl IM® U 6 U ufd a8 &1 X & 50000 TUT H1 R IYR <18 1 3 9 a1 iy ar giefo
Options :

1. ® 60000 34T

2. ¥ 59550.80 ¥UU

3. % 55050.50 ¥UU

4. % 58570.25 %04

Question Number : 103 Question Id : 2752286136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankit and Dharesh start from a point and go in opposite directions with speeds of 3.5 km/hr and 10.5 km/hr respectively. After how much time
will they be 77 km apart from each other?

Options :

1. # 6 hours 15 minutes
2. % 3 hours 15 minutes
3. % 5 hours 30 minutes

4. % 11 hours 10 minutes

Question Number : 103 Question Id : 2752286136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iford 3R YR U foig T L= B § 3R HHRT: 3.5 knm/hr 3R 10.5 km/hr D1 7T F fauia femmsii & od €| fovas 990 916 3 Th-gav 9
77 km & g3 R B2

Options :

1. % ¢Hc 15 Pe
2. % 39c 15 Fe
3. ¢ 5%¢ 30 e
4. % 119¢ 10 AT

Question Number : 104 Question Id : 2752286137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Two friends Kim and Joy jog the same distance every morning with speeds of 2 km/hr and 3 km/hr respectively. Joy always starts jogging 15 min
late and finishes 15 min earlier than Kim. How much distance each covers while jogging every morning?

Options :

1. * 10 Km
2. % 5Km
3. 3 Km
4. % 6 Km

Question Number : 104 Question Id : 2752286137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&) I ford 3R ST &R a8 HHT: 2 knv/hr 3R 3 knv/hr BT T F TH G2 ST HRA & | 51 AR 15 e <R F ST &A1 L= Rl §
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Options :

1. ®* 10 Km
2. % 5Km
3. 3 Km
4. % 6 Km

Question Number : 105 Question Id : 2752286138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From a local bus stand, buses leave after every 6 minutes with an average speed of 40 km/hr. A person coming from opposite direction meets the
buses after every 5 minutes. What is the speed of the person?

Options :

1. * 4 Km/hr
2. % 8 Km/hr
3. % 10 Km/hr
4. % 15 Km/hr

Question Number : 105 Question Id : 2752286138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T R §9 7S ¥, 40 km/hr B 319 71 I TR 6 Tl & a1 99 bl ¢ 1 }ausia fa=m @ o are safad 81 5 e & ag a9 9
fireran g | safaa &1 Tifd F1 82

Options :

1. # 4 Km/hr

2. ¥ 8 Km/hr

3. % 10 Km/hr

4. % 15 Km/hr

Question Number : 106 Question Id : 2752286139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Machine A can complete a task in 18 days. Machine B is 50 percent more efficient. In how many days will Machine B finishes the same task?
Options :

1. # 8 days

2. % 10 days

3. % 12 days

4. % 15 days

Question Number : 106 Question Id : 2752286139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR A, 18 f&1 # U S OR1 o ohal & | AR B 50 Ufawra i e 81 7= B I0H &1 &1 foan i3 & 1 e
Options :

1. % gfeq

2. % 10feA

3.¢ 1214

4. % 15feq

Question Number : 107 Question Id : 2752286140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three pipes of different diameters takes 40, 30 and 24 minutes respectively to fill a tank. If all these three pipes opened together, then in how
many minutes will the tank get filled?

Options :

1. ¥ 10 minutes
2. # 8 minutes
3. % 18 minutes

4. % 16 minutes

Question Number : 107 Question Id : 2752286140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¢pl bl WA & foru fafirel oy & i urgul &1 S5 40, 30 3R 24 fiFe T €1 Afe 377 41 UTSUl 1 Teh 1Y WAl ST §, Y <ol
fpam e | wR Sl

Options :

1.+ 10 e

2. % gfie

3. % 18fiHe

4. % 16f0AC

Question Number : 108 Question Id : 2752286141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two friends Saurabh and Harshit can complete a work in 3 and 6 days separately. In how many days will they finish the work if Saurabh begins
and they work on alternate days?

Options :

1. # 10 days
2. % 8 days
3. ¥ 4 days
4. % 15 days

Question Number : 108 Question Id : 2752286141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 A YRY 3R B Srav-3r@ 3 3R 6 37 & T BT qRT R Thdl 7 | fE RY Y& Rl ¢ 3R I dbfeds A A pm ara g dl d
fopam fol d s QR B

Options :

1. % 10feH

2. % gfed

3. 4184

4.% 15fq

Question Number : 109 Question Id : 2752286142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A task can be completed by 12 men and 10 women in 3 days, or by 6 men and 8 women in 5 days. If 3 men and 5 women work together, then in
how many days they will finish the task?

Options :

1. ¥ 9 days
2. # 18 days
3. # 24 days
4. # 14 days

Question Number : 109 Question Id : 2752286142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 TB8T 3R 10 Afgarsil gR1 U &1 3 =1 § qx7 foram o Tavd ©, a1 6 Tou 3R 8 Afganstt gRy s fai & @ fpar s 9w g1 afe 3
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Options :

1. ¥ 9faT

2. % 18f&q

3. % 24fq

4. % 14f=



Question Number : 110 Question Id : 2752286143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the volume of a cone whose diameter is 12.6 cm and height is 4.9 cm?
Options :

1. % 104.652 cu cm

2. % 203.742 cu cm

3. % 404.126 cu cm

4. % 254.236 cu cm

Question Number : 110 Question Id : 2752286143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U BT AT 1 & FTHT T 12.6 em 3R HATS 4.9 cm 82
Options :

1. # 104.652 cu cm

2. % 203.742 cu cm

3. % 404.126 cu cm

4. % 254236 cucm

Question Number : 111 Question Id : 2752286144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cylinder has a hemisphere at its bottom and a cone at its top. The radius of the solid is 3.5 m, height of the cone is 2 m and height of the
cylinder is 7 m. What is the volume of the resultant solid shape? Radii of all three are same.

Options :

1. ¥ 385cum
2. % 495cum
3. % 545cum
4, % 595 cum

Question Number : 111 Question Id : 2752286144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP 31 9 H 3P dd H T e 81aT § 3R 39 Y IR U6 WP BT |1 319 & B 3.5 m B, TP Bl SaTs 2 m © 3R 9 Pt
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Options :

1.¥ 385cum

2. %# 495 cum

3. % 545cum

4. ® 595 cum

Question Number : 112 Question Id : 2752286145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sphere of radius 4.2 cm is cut into two equal parts. What is the total surface area of each part?
Options :

1. # 332.64 sq cm

2. % 166.32 sq cm

3. % 282sqcm

4. % 189.36 sq cm

Question Number : 112 Question Id : 2752286145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4.2 cm ST &% TH T B & THA YT H BT AT 8 | TS YT BT Hdl YSTT T F1 82
Options :

1. # 332.64 sq cm

2. ¥ 166.32 sq cm

3. % 282sqcm

4. % 189.36 sq cm

Question Number : 113 Question Id : 2752286146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A survey was carried out among 1000 people to find who they want as the captain of the one-day cricket team of India. How many people
wanted Sehwag as the captain?

Captain of cricket team of India

Options :
1. % 250
2. % 120
3.9 150
4. % 350

Question Number : 113 Question Id : 2752286146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1000 ST & ST Teb FI&TUT fHaT TRT T d1fch UdT It b fob 3 HRd & Uh el fobobe 10 & - & U H fhd e Irgd g |
TBaN &l HWH &b U H food= AT 31T a8 d 92
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Options :
1. % 250
2. % 120
3.9 150
4. % 350

Question Number : 114 Question Id : 2752286147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the exports of coal, bauxite and iron (in thousands of tonnes) over a six month period. What was the average value of
coal exported over the 6 month period?



e Exports (in thousand of tonnes)
Coal Bauxite Iron
January 15 8 10
February 18 14 12
March 20 22 14
April 27 26 18
May 25 24 16
June 16 18 11
Options :
1. % 22.16
2.9 20.16
3. % 2033
4. % 2433

Question Number : 114 Question Id : 2752286147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 22.16
2.920.16
3. % 2033
4. % 2433

Question Number : 115 Question Id : 2752286148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the expenditure (in rupees) of a company per annum over the years. What is the average amount (in rupees) of the tax
which the company had to pay during the period?

i ltem of expenditure (in lakhs)
Salary Bonus Interest Taxes

2001 180 1 24 80
2002 210 1.5 25.8 100
2003 240 1.3 24.5 84
2004 360 2 26.7 a8
2005 350 2 30 96

Options :

1. ¥ 91.6 lakhs

2. * 84 lakhs

3. # 98.2 lakhs
4. % 96.5 lakhs

Question Number : 115 Question Id : 2752286148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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- 1 P a%g (A 1)
da | ftemy | & R

2001 180 1 24 80
2002 210 1.5 258 100
2003 240 1.8 24.5 84
2004 360 2 26.7 a8
2005 350 2 30 96

Options :

1. ¥ 91.6 Al

2. % 849

3. % 98.2¢lld

4, % 96.5

Question Number : 116 Question Id : 2752286149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the spending of a college on various sports during the year 2010. The college spends Rs. 400000 on sports. What is the ratio
of the amount spent on football, basketball and swimming to that spent on golf, cricket and tennis?



Spending on various sports

Swimming
5%

Options :
1.%8:9
2.¥8:17
3.%4:5
4. %3:2

Question Number : 116 Question Id : 2752286149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.%8:9
2.¥8:17
3.% 4:5
4. % 3:2

Question Number : 117 Question Id : 2752286150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following histogram shows the number of students with the corresponding percentage scored in the entrance exam for a college. If the
college decided to admit only students who had scored above 60 percent in the exam. How many students got admission in the college ?



125 125

Number of students

0-10 10-20 20-30 30-40 40-50 50-60 &0-70 70-80 BO0-90 90-100

Percentagescored

Options :
1. % 70
2. % 180
3.% 100
4. % 90

Question Number : 117 Question Id : 2752286150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100

R ufeera

Options :
1. ¥ 70
2. % 180
3.9 100
4. % 90

Question Number : 118 Question Id : 2752286151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A survey was conducted to find out the popularity of graphical representation. How much percent of total students like bar graph?



50 -
45

40
35 -
30
30 -
25 4
20
20 -

15 4

Mumber of students

10 -

Bar graph Pie chart Histogram Frequency Pictograph
polygon
Graphical representations

Options :

1. % 20 percent
2. % 45 percent
3. % 30 percent
4. % 50 percent

Question Number : 118 Question Id : 2752286151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 20 gfard
2. % 45 gfavrd
3. ¢ 30 Ufa=rd
4. % 50 Ufa=rd

Question Number : 119 Question Id : 2752286152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the production of pesticides (in kg) by a company (in thousands) over the years. What was the percentage
increase in production of pesticides in 2009 compared to that in 2003?
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Options :

1. ¥ 100 percent
2. % 60 percent
3. # 80 percent
4. % 120 percent

Question Number : 119 Question Id : 2752286152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.+ 100 Ufa=Id
2. % 60 Ufa=rd
3. % 80 Hfaerd
4. % 120 gfaerd

Question Number : 120 Question Id : 2752286153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following frequency polygon displays the weekly income of laborers of a factory. If laborers got Rs. 100 as diwali bonus then, how many
laborers got Rs. 350 or more as their weekly income (including bonus) on diwali week?



1 80
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30 +

30 -
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Number of labourers

10
10 -+

100 250 400 350 700

Weekly income (in Rs.)

Options :
1. % 150
2. % 180
3. % 200
4. ¥ 185

Question Number : 120 Question Id : 2752286153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 150
2. % 180
3. % 200
4. ¥ 185
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General English1

Section Id : 275228321
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228384
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752286154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The newly introduced stringently policies on income tax filing and collection (1)/ will certainly bring about a substantial increase (2)/ in revenue
generated from income tax. (3)/ No Error (4)

Options :

1. ¥ The newly introduced stringently policies on income tax filing and collection
2. % will certainly bring about a substantial increase

3. # inrevenue generated from income tax.

4. % No error

Question Number : 121 Question Id : 2752286154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The newly introduced stringently policies on income tax filing and collection (1)/ will certainly bring about a substantial increase (2)/ in revenue
generated from income tax. (3)/ No Error (4)



Options :

1. ¥ The newly introduced stringently policies on income tax filing and collection
2. % will certainly bring about a substantial increase

3. % in revenue generated from income tax.

4. % No error

Question Number : 122 Question Id : 2752286155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The mission Chandrayaan 2 could be a success, (1)/ had it not lost contact with the ISRO (2)/ in its final moments of descent. (3)/ No Error (4)
Options :

1. ¥ The mission Chandrayaan 2 could be a success,

2. % had it not lost contact with the ISRO

3. % in its final moments of descent.

4. % No error

Question Number : 122 Question Id : 2752286155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The mission Chandrayaan 2 could be a success, (1)/ had it not lost contact with the ISRO (2)/ in its final moments of descent. (3)/ No Error (4)
Options :

1. ¥ The mission Chandrayaan 2 could be a success,

2. % had it not lost contact with the ISRO

3. # in its final moments of descent.

4. ® No error

Question Number : 123 Question Id : 2752286156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In his memoirs, he has been quoted been saying that, (1)/ “It is my faith, based on experience, that if one's heart is pure, (2)/ calamity brings in its
trained men and measures to fight it.”” (3) No Error (4)

Options :

1. ¥ In his memoirs, he has been quoted been saying that,

2. % “It is my faith, based on experience, that if one's heart is pure,
3. # calamity brings in its trained men and measures to fight it.”
4. ® No error

Question Number : 123 Question Id : 2752286156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In his memoirs, he has been quoted been saying that, (1)/ “It is my faith, based on experience, that if one's heart is pure, (2)/ calamity brings in its
trained men and measures to fight it.” (3) No Error (4)

Options :

1. ¥ In his memoirs, he has been quoted been saying that,

2. # “It is my faith, based on experience, that if one's heart is pure,
3. % calamity brings in its trained men and measures to fight it.”
4. % No error

Question Number : 124 Question Id : 2752286157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Everyone were absolutely perplexed (1)/ by his decision to not participate (2)/ in the upcoming assembly elections. (3)/ No Error (4)
Options :

1. ¥ Everyone were absolutely perplexed

2. # by his decision to not participate

3. # in the upcoming assembly elections.



4. % No error

Question Number : 124 Question Id : 2752286157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Everyone were absolutely perplexed (1)/ by his decision to not participate (2)/ in the upcoming assembly elections. (3)/ No Error (4)
Options :

1. ¥ Everyone were absolutely perplexed

2. % Dby his decision to not participate

3. * in the upcoming assembly elections.

4, % No error

Question Number : 125 Question Id : 2752286158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The government has acknowledged its fault in the plummeting economy today; (1)/ owing to its various egregious and farfetched policies (2)/
which were assured to never yield any results. (3)/ No Error (4)

Options :

1. ¥ The government has acknowledged its fault in the plummeting economy today;
2. # owing to its various egregious and farfetched policies

3. % which were assured to never yield any results.

4. ¥ No error

Question Number : 125 Question Id : 2752286158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The government has acknowledged its fault in the plummeting economy today; (1)/ owing to its various egregious and farfetched policies (2)/
which were assured to never yield any results. (3)/ No Error (4)



Options :

1. ¥ The government has acknowledged its fault in the plummeting economy today;
2. ® owing to its various egregious and farfetched policies

3. # which were assured to never yield any results.

4. ® No error

Question Number : 126 Question Id : 2752286159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Gandhi completed his studies in England and became a lawyer, (for he practised law in South Africa) as he was racially discriminated in
England.

Options :

1. ¥ but he practised law in South Africa
2. % as, he practiced law in South Africa
3. # but he practice law in South Africa

4. ® No corrections required

Question Number : 126 Question Id : 2752286159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Gandhi completed his studies in England and became a lawyer, (for he practised law in South Africa) as he was racially discriminated in
England.

Options :

1. ¥ but he practised law in South Africa
2. % as, he practiced law in South Africa
3. # but he practice law in South Africa

4. % No corrections required



Question Number : 127 Question Id : 2752286160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

His (malicious intent could have been seen) when he decided to murder his entire family.
Options :

1. ¥ malicious intent was seen

2. # malicious intent would have been seen

3. % malicious intent should be seen

4. # No corrections required

Question Number : 127 Question Id : 2752286160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

His (malicious intent could have been seen) when he decided to murder his entire family.
Options :

1. ¥ malicious intent was seen

2. # malicious intent would have been seen

3. % malicious intent should be seen

4. ¥ No corrections required

Question Number : 128 Question Id : 2752286161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



(As the country copes from the aftermath of the horrors of Mumbai), the hard work of reconstruction, of rebuilding and of reimagining our
country has begun.

Options :

1. #® As the country copes in the aftermath of the horrors of Mumbai

2. ¥ As the country copes with the aftermath of the horrors of Mumbai
3. # As the country copes within the aftermath of the horrors of Mumbai

4. ® No corrections required

Question Number : 128 Question Id : 2752286161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(As the country copes from the aftermath of the horrors of Mumbai), the hard work of reconstruction, of rebuilding and of reimagining our
country has begun.

Options :

1. ¥ As the country copes in the aftermath of the horrors of Mumbai

2. ¥ As the country copes with the aftermath of the horrors of Mumbai
3. # As the country copes within the aftermath of the horrors of Mumbai

4. ® No corrections required

Question Number : 129 Question Id : 2752286162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The latest edition of the Official Highway Code includes), new drug driving laws, HGV speed limit changes on single and dual carriageways.
Options :

1. # The latest edition of the Official Highway Code included

2. # The latest edition of the Official Highway Code include

3. ® The latest edition of the Official Highway Code is included

4. ¥ No corrections required



Question Number : 129 Question Id : 2752286162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The latest edition of the Official Highway Code includes), new drug driving laws, HGV speed limit changes on single and dual carriageways.
Options :

1. # The latest edition of the Official Highway Code included

2. # The latest edition of the Official Highway Code include

3. % The latest edition of the Official Highway Code is included

4. ¥ No corrections required

Question Number : 130 Question Id : 2752286163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

You can't just that kind of data from these results.

Options :

1. # exudate

2. % exalt

3. ¥ extrapolate
4. % expedite

Question Number : 130 Question Id : 2752286163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

You can't just that kind of data from these results.

Options :



1. % exudate

2. % exalt

3. ¥ extrapolate
4. #® expedite

Question Number : 131 Question Id : 2752286164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Their relationship had reached a point where it was

Options :

1. # sociable

2. % insatiable

3. % communicable

4. % irreconcilable

Question Number : 131 Question Id : 2752286164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Their relationship had reached a point where it was

Options :

1. % sociable

2. ® insatiable

3. % communicable

4. % irreconcilable

Question Number : 132 Question Id : 2752286165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.



The massages were quite pleasantly

Options :

1. # endowing
2. % enumerating
3. # facilitating

4. ¥ rejuvenating

Question Number : 132 Question Id : 2752286165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

The massages were quite pleasantly

Options :

1. # endowing
2. # enumerating
3. % facilitating

4. ¥ rejuvenating

Question Number : 133 Question Id : 2752286166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

The scientists have provided numerous researches, to prove their hypothesis.

Options :

1. #* imminent

2. % empathetic
3. ¥ empirical

4. % epiphanic

Question Number : 133 Question Id : 2752286166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

The scientists have provided numerous researches, to prove their hypothesis.

Options :

1. ®* imminent

2. # empathetic
3. ¥ empirical

4. ® epiphanic

Question Number : 134 Question Id : 2752286167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The pivotal engineering and scientific success of the Twentieth century was the Manhattan Project.

P. The only cloud hanging over the impressive achievement of the atomic researchers and engineers is what their success truly meant; hundreds
of thousands of innocent lives obliterated.

Q. The Manhattan Project assimilated concepts and leaders from all scientific fields and engineering disciplines to construct the first two atomic
bombs.

R. The presence of communication amid scientific minds was equally important to the success of the Manhattan Project as scientific intellect
was.

S. From the study of nuclear physics and chemistry to the practical engineering and processing of uranium 235 and plutonium 239 and the final
construction of the weapons, scientific knowledge grew at an exponential rate to critical levels.

Yet this grave definition of success cannot diminish the impressive collaboration and efficiency of the Manhattan Project.
Options :

1. # QSPR

2. ¥ QSRP

3. ¥ QPRS

4. % QPSR



Question Number : 134 Question Id : 2752286167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The pivotal engineering and scientific success of the Twentieth century was the Manhattan Project.

P. The only cloud hanging over the impressive achievement of the atomic researchers and engineers is what their success truly meant; hundreds
of thousands of innocent lives obliterated.

Q. The Manhattan Project assimilated concepts and leaders from all scientific fields and engineering disciplines to construct the first two atomic
bombs.

R. The presence of communication amid scientific minds was equally important to the success of the Manhattan Project as scientific intellect
was.

S. From the study of nuclear physics and chemistry to the practical engineering and processing of uranium 235 and plutonium 239 and the final
construction of the weapons, scientific knowledge grew at an exponential rate to critical levels.

Yet this grave definition of success cannot diminish the impressive collaboration and efficiency of the Manhattan Project.
Options :

1. ¥ QSPR

2. ¥ QSRP

3. % QPRS

4. % QPSR

Question Number : 135 Question Id : 2752286168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The cacophony of deafening noises

P. memories I have from
Q. is one of the more vivid
R. my time |

S. served in the



pre-Iraq war.
Options :

1. # QPSR
2. % QPSP
3. ¥ QPRS
4. % QSPR

Question Number : 135 Question Id : 2752286168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The cacophony of deafening noises

P. memories I have from
Q. is one of the more vivid
R. my time |

S. served in the

pre-Iraq war.
Options :

1. % QPSR
2. % QPSP
3. ¥ QPRS
4. % QSPR

Question Number : 136 Question Id : 2752286169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The employees of the restaurant



P. they were given leave without an

Q. and if something urgent cropped up

R. were well paid, well fed, well rested, well clothed
S. eyebrow raised and in the

blink of an eye.
Options :

1. % RPSQ

2. % RPQS

3. % PSQP

4. ¥ RQPS

Question Number : 136 Question Id : 2752286169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The employees of the restaurant

P. they were given leave without an

Q. and if something urgent cropped up

R. were well paid, well fed, well rested, well clothed
S. eyebrow raised and in the

blink of an eye.
Options :

1. # RPSQ

2. % RPQS

3. % PSQP

4. ¥ RQPS

Question Number : 137 Question Id : 2752286170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Google's history began in 1995 when Larry Page met Sergey Brin.

P. At the time Larry Page was a Ph.D. student at Stanford University, and Sergey was considering studying there.

Q. In 1996 Larry and Sergey began working on a search engine called BackRub.

R. This engine worked on the Stanford servers for more than a year which eventually clogged up the bandwidth and hence Google.com was
registered on September 15th, 1997.

S. The name came from the algorithms ranking for how many "back-links" a page has.

Google, is a play on words of "googol" which is a mathematical term for the number 1 followed by 100 zeros. It is rumoured that this reflects the
founders' mission to organize the infinite amount of information on the internet.

Options :

1. ¥ PQSR
2. % PQRS
3. # PSQR
4. % PRSQ

Question Number : 137 Question Id : 2752286170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Google's history began in 1995 when Larry Page met Sergey Brin.

P. At the time Larry Page was a Ph.D. student at Stanford University, and Sergey was considering studying there.

Q. In 1996 Larry and Sergey began working on a search engine called BackRub.

R. This engine worked on the Stanford servers for more than a year which eventually clogged up the bandwidth and hence Google.com was
registered on September 15th, 1997.

S. The name came from the algorithms ranking for how many "back-links" a page has.

Google, is a play on words of "googol" which is a mathematical term for the number 1 followed by 100 zeros. It is rumoured that this reflects the
founders' mission to organize the infinite amount of information on the internet.

Options :



1. ¥ PQSR
2. % PQRS
3. % PSQR
4. % PRSQ

Question Number : 138 Question Id : 2752286171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Subversive
Options :

1. ¥ Insurgent
2. % Obedient
3. # Legitimate
4. % Admissible

Question Number : 138 Question Id : 2752286171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Subversive
Options :

1. ¥ Insurgent
2. # Obedient
3. # Legitimate
4. ¥ Admissible

Question Number : 139 Question Id : 2752286172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



Polygamy
Options :
1. # Endogamy
2. % Misogamy
3. ¥ Homogamy
4. ¥ Monogamy

Question Number : 139 Question Id
Orientation : Vertical

: 2752286172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Polygamy
Options :
1. # Endogamy
2. % Misogamy
3. % Homogamy

4. ¥ Monogamy

Question Number : 140 Question Id
Orientation : Vertical

: 2752286173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Subterranean
Options :

1. # Overt

2. % Underground
3. # Terrestrial

4. % Subcutaneous

Question Number : 140 Question Id

: 2752286173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is closest in meaning (SYNONYM) to the word given below

Subterranean
Options :

1. ® Overt

2. % Underground
3. % Terrestrial

4. % Subcutaneous

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

General English2

8
275228220
0

0

No

No

0

20

No

General English2

275228322
1

Online
Mandatory
16

16

20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 275228385
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752286174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Besiege
Options :

1. * Smother
2. % Skirt

3. % Palisade
4. ¥ Defend

Question Number : 141 Question Id : 2752286174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Besiege
Options :

1. * Smother
2. % Skirt

3. % Palisade
4. ¥ Defend

Question Number : 142 Question Id : 2752286175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below



Equestrian
Options :

1. # Pedantic

2. # Pleasant

3. % Callisthenics

4. % Horseman

Question Number : 142 Question Id : 2752286175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Equestrian
Options :

1. # Pedantic

2. # Pleasant

3. % Callisthenics

4. ¥ Horseman

Question Number : 143 Question Id : 2752286176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Palatable

2. # Palateble

3. % Paletable

4. ¥ Peletable

Question Number : 143 Question Id : 2752286176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Palatable

2. # Palateble

3. % Paletable

4. ¥ Peletable

Question Number : 144 Question Id : 2752286177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Asthete

2. # Acsthete

3. ¥ Aesthete

4. # Ascthete

Question Number : 144 Question Id : 2752286177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Asthete

2. # Acsthete

3. ¥ Aesthete

4. % Ascthete

Question Number : 145 Question Id : 2752286178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ¥ Alliteration
2. * Aliteration
3. # Aliteretion

4. % Alliterasion

Question Number : 145 Question Id : 2752286178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Alliteration

2. # Aliteration

3. % Aliteretion

4. % Alliterasion

Question Number : 146 Question Id : 2752286179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Convalascence

2. # Convalesence

3. % Convalescence

4. % Convelence

Question Number : 146 Question Id : 2752286179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Convalascence

2. % Convalesence



3. ¥ Convalescence

4. % Convelence

Question Number : 147 Question Id : 2752286180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Consanguinity

2. # Consaguinity

3. # Consanuity

4. # Consagnuity

Question Number : 147 Question Id : 2752286180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Consanguinity

2. ®% Consaguinity

3. # Consanuity

4. ¥ Consagnuity

Question Number : 148 Question Id : 2752286181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Feet of clay
Options :
1. # Advance in harmony

2. ¥ A fundamental flaw or weakness in a person otherwise revered.



3. % To drive rashly
4. ® To be a good dancer

Question Number : 148 Question Id : 2752286181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Feet of clay

Options :

1. # Advance in harmony

2. ¥ A fundamental flaw or weakness in a person otherwise revered.
3. # To drive rashly

4. % To be a good dancer

Question Number : 149 Question Id : 2752286182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A skeleton in the cupboard

Options :

1. ¥ A past event which is kept secret, something embarrassing or shameful
2. % A secret which is revealed by someone.

3. % Shared secrets between family members

4. ® A secret of someone which is kept hidden from everyone else in the family.

Question Number : 149 Question Id : 2752286182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A skeleton in the cupboard



Options :

1. ¥ A past event which is kept secret, something embarrassing or shameful
2. % A secret which is revealed by someone.

3. # Shared secrets between family members

4. ® A secret of someone which is kept hidden from everyone else in the family.

Question Number : 150 Question Id : 2752286183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Gird up one's loins

Options :

1. # The end part of something

2. % Not having a prepared action before time
3. % With one's own efforts

4. ¥ Get ready for the job

Question Number : 150 Question Id : 2752286183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Gird up one's loins

Options :

1. # The end part of something

2. # Not having a prepared action before time
3. # With one's own efforts

4. ¥ Get ready for the job

Question Number : 151 Question Id : 2752286184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom

The thin end of the wedge.

Options :

1. # Someone who is against the religion

2. # To admit something readily

3. ¥ Beginning of something bad which seems harmless in the present but is likely to become worse in future.

4. ® Watching all actions closely

Question Number : 151 Question Id : 2752286184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

The thin end of the wedge.

Options :

1. # Someone who is against the religion

2. # To admit something readily

3. ¥ Beginning of something bad which seems harmless in the present but is likely to become worse in future.
4. % Watching all actions closely

Question Number : 152 Question Id : 2752286185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Impossible to stop or prevent.
Options :

1. ® Deplorable

2. % Exorable

3. ® Uninsurable

4. ¥ Inexorable



Question Number : 152 Question Id : 2752286185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Impossible to stop or prevent.
Options :

1. # Deplorable

2. # Exorable

3. % Uninsurable

4. % Inexorable

Question Number : 153 Question Id : 2752286186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

The joint control of a state's affairs by other states.
Options :

1. ¥ Condominium

2. % Biennium

3. ¥ Meconium

4. % Dominium

Question Number : 153 Question Id : 2752286186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

The joint control of a state's affairs by other states.
Options :
1. ¥ Condominium

2. % Biennium



3. ¥ Meconium

4. % Dominium

Question Number : 154 Question Id : 2752286187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

A remark or statement, especially one with a moral content, that has been used too often to be interesting or thoughtful.
Options :

1. # Habitude

2. ¥ Platitude

3. % Solitude

4. % Finitude

Question Number : 154 Question Id : 2752286187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

A remark or statement, especially one with a moral content, that has been used too often to be interesting or thoughtful.
Options :

1. ¥ Habitude

2. ¥ Platitude

3. % Solitude

4. # Finitude

Question Number : 155 Question Id : 2752286188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

A person who is dissatisfied and rebellious.



Options :

1. # Synod

2. % Interregnum
3. ¥ Malcontent

4. % Monomaniac

Question Number : 155 Question Id : 2752286188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

A person who is dissatisfied and rebellious.
Options :

1. # Synod

2. # Interregnum

3. ¥ Malcontent

4. % Monomaniac

Sub-Section Number : 2
Sub-Section Id : 275228386
Question Shuffling Allowed : Yes

Question Id : 2752286189 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which, world-wide physicists and engineers are embarking on:
the creation of an artificial "star", which humanity hopes to use for its energy to power our civilization. This "artificial star" is essentially a

controlled fusion reaction which, when successful, releases a massive amount of energy (gamma rays, in compliance with E=mcz) that they can
then harness as electricity. The current machine (work in progress) is the International Thermonuclear Experimental Reactor (ITER). This is an
international project, which China, the U.S., Russia, and several European countries are participating in. The collaborators at ITER hope to use
the machine to solve a major problem humanity faces as a civilization- the pollution in the atmosphere created by the burning of fossil fuels. The
ITER project began during the Cold War in the mid-21st century. Apart from the obvious economic and environmental assets of such a machine,
the curiosity of American physicists in the 21st century also acted as a major catalyst. In the early 1980’s the Argentinian president, Juan Peron,



incorrectly announced that his scientists had successfully constructed a fusion machine of such sorts. Americans, despite the fact that Peron's
claim was a fraud, began to ponder and wonder that a thermonuclear fusion machine would look like. At that point, the U.S. government began to
pour large amounts of money into the project, and was constantly disrupted by numerous set-backs and obstacles. One of the major problems the
entire international collaboration faced was the issue of cost and each country's economic devotion to the project. The author claimed that as
science and its frontier continued to advance, both the cost and complexity of further exploration sky rockets as well, which the ITER project
clearly portrays.

Sub questions

Question Number : 156 Question Id : 2752286190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is major problem which the project ITER hopes to solve?
Options :

1. ¥ Reduction in pollution caused by the usage of fossil fuels

2. # Reduction in the stress put on renewable resources

3. # Solving the electricity crisis

4. # Cost efficiency and energy saving

Question Number : 157 Question Id : 2752286191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which country’s fraudulent claim did America become curious about a thermonuclear fusion?
Options :

1. ®¥ The UK.

2. # China

3. % Russia

4. ¥ Argentina

Question Number : 158 Question Id : 2752286192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the project ITER begin?
Options :

1. ¥ In the middle of 21st century



2. # During the Second World War
3. % At the start of 21st century
4. % In the middle of First World War

Question Number : 159 Question Id : 2752286193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following given statements is incorrect?

Options :

1. # ITER is an international project, and its participants are China, the U.S., Russia, and several European countries.
2. ¥ Artificial star' is essentially a controlled fission reaction, similar to a nuclear bomb.

3. # International Thermonuclear Experimental Reactor is the name of the machine which is under development for harnessing the
thermonuclear energy.

4. # In the early 1980’s the Argentinian president, Juan Peron, incorrectly announced that his scientists had successfully constructed a
thermonuclear fusion machine.

Question Number : 160 Question Id : 2752286194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, out of the numerous problems which the ITER project faced, which is the one mentioned in the passage.
Options :

1. #® The impracticality of the existence of such a machine.

2. ¥ The cost of such a project and receiving the economic aid from the collaborators.

3. # The complexity of the programme.

4. ® The security threats which accompanies while harnessing nuclear energy.

Question Id : 2752286189 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which, world-wide physicists and engineers are embarking on:
the creation of an artificial "star", which humanity hopes to use for its energy to power our civilization. This "artificial star" is essentially a

controlled fusion reaction which, when successful, releases a massive amount of energy (gamma rays, in compliance with E=mc?) that they can



then harness as electricity. The current machine (work in progress) is the International Thermonuclear Experimental Reactor (ITER). This is an
international project, which China, the U.S., Russia, and several European countries are participating in. The collaborators at ITER hope to use
the machine to solve a major problem humanity faces as a civilization- the pollution in the atmosphere created by the burning of fossil fuels. The
ITER project began during the Cold War in the mid-21st century. Apart from the obvious economic and environmental assets of such a machine,
the curiosity of American physicists in the 21st century also acted as a major catalyst. In the early 1980’s the Argentinian president, Juan Peron,
incorrectly announced that his scientists had successfully constructed a fusion machine of such sorts. Americans, despite the fact that Peron's
claim was a fraud, began to ponder and wonder that a thermonuclear fusion machine would look like. At that point, the U.S. government began to
pour large amounts of money into the project, and was constantly disrupted by numerous set-backs and obstacles. One of the major problems the
entire international collaboration faced was the issue of cost and each country's economic devotion to the project. The author claimed that as
science and its frontier continued to advance, both the cost and complexity of further exploration sky rockets as well, which the ITER project
clearly portrays.

Sub questions

Question Number : 156 Question Id : 2752286190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is major problem which the project ITER hopes to solve?
Options :

1. ¥ Reduction in pollution caused by the usage of fossil fuels

2. # Reduction in the stress put on renewable resources

3. % Solving the electricity crisis

4. # Cost efficiency and energy saving

Question Number : 157 Question Id : 2752286191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which country’s fraudulent claim did America become curious about a thermonuclear fusion?
Options :

1. # The UK.

2. # China

3. % Russia

4. ¥ Argentina

Question Number : 158 Question Id : 2752286192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
When did the project ITER begin?
Options :

1. ¥ In the middle of 21st century

2. % During the Second World War

3. # At the start of 21st century

4. % In the middle of First World War

Question Number : 159 Question Id : 2752286193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following given statements is incorrect?

Options :

1. # ITER is an international project, and its participants are China, the U.S., Russia, and several European countries.
2. ¥ Artificial star' is essentially a controlled fission reaction, similar to a nuclear bomb.

3. # International Thermonuclear Experimental Reactor is the name of the machine which is under development for harnessing the
thermonuclear energy.

4. ® In the early 1980’s the Argentinian president, Juan Peron, incorrectly announced that his scientists had successfully constructed a
thermonuclear fusion machine.

Question Number : 160 Question Id : 2752286194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, out of the numerous problems which the ITER project faced, which is the one mentioned in the passage.
Options :

1. #® The impracticality of the existence of such a machine.

2. ¥ The cost of such a project and receiving the economic aid from the collaborators.

3. # The complexity of the programme.

4. ® The security threats which accompanies while harnessing nuclear energy.
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Question Number : 161 Question Id : 2752286195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy §, IR eedl 7 9, 39 9w cd &1 987 &3 ot fpar & U arel et fasey gl |
U WA W T

Options :

1. ¢ QdpIicid fopd
2. % TRUMe o



3. % Ammyrg foean
4. % Iq fbar

Question Number : 161 Question Id : 2752286195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRuferiRad uy #, IR Al A T, 39 fawey &1 99+ B3 o) fobar & Wi arer It faswed 8|

g W Wa- 47|
Options :

1. ¥ QAP fohdl
2. % QUM foma

3. % Ammyrg foban

4, % IR fob

Question Number : 162 Question Id : 2752286196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8, IR fawedl & 9, 39 fddhed &1 999 & Sl DIFS H AU T ed & SIHR 3T & e $I 95! [dded gl
duss (ufafe) ugar |

Options :

1. ¢ foparfavivor sreay
2. % GHEYEIYD 3y
3. % fqwrfediys ey

4. % IdYSIYPH Y

Question Number : 162 Question Id : 2752286196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy #, IR fowedl 7 9, 39 fdded &1 99 & ol DIFP H QU T Meq & AR 3T & UG &l el [ddbed gl




dius (wfafes) Tear gl

Options :

1. ¢ Tohanfariv ooy
2. % GHEYEIYD 3y
3. % [qWaTfeaiyd 3feqy
4. % GEYAIUD g

Question Number : 163 Question Id : 2752286197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR faded! # 9, 39 [dded &1 997 &< ol HIdaTad U311 &1 el [ddhed ol o
Options :

1. ® al¥dd

2. ® pUUdl

3. ¥ ¢d

4, % JHA

Question Number : 163 Question Id : 2752286197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofiied vy H, 9R fawed! § 9, 39 fadhed &1 99+ &< il HIadTrad 4311 $T el [dded T 5
Options :

1. # qdd

2. % oYUl

3. ¥ qd

4, ® JHA

Question Number : 164 Question Id : 2752286198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaiad vy H, IR fowedl 7 9, 39 fdded &1 997 & off DIFH | QT U Xeq & AR Fa-H & U &I ! [dbed 8l




T H (3D) AT B
Options :

1. % fSfara®

2. ¥ Y= dredh

3. % UYdrdd

4. ¢ YT drID

Question Number : 164 Question Id : 2752286198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad vy H, IR fowddl 7 9, 39 fddwed &1 99 & ol ®IFH | QT U Xeq & AR Fa-H & U &I ! [dbed 8l
TR H (3D) AT B

Options :

1. % Aar®

2. % JEY diddh
3. % YYdddh

4. ¥ JYY qrEIH

Question Number : 165 Question Id : 2752286199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy §, IR fasedl B 9, 39 fdded &1 9= X ol HI¥H T AT U e o YR =IOl & We ara faded 81|
IRYE BT (§TRYY) U sgd IR B

Options :

1. % grd1e

2. % 3T ulHT0T drad
3. % [iYd G=AEEs®

4. ¢ TUATED




Question Number : 165 Question Id : 2752286199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 1, IR fasedl B 9, 39 fdded &1 9= & ol HI¥H T AT U e o YR IRVl & We ara faded 51|
IRY BT (§TRYY) U sgd UG B

Options :

1. % grd1e

2. % 3T ulRH0T drad
3. % [iYd G=AEEs®

4. ¢ TUATED

Question Number : 166 Question Id : 2752286200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fahcd &1 9g7 &8 St SISl Usg BT et f[dbea gl
Options :

1. % 3Rd

2. ¥ SPR

3. % givid

4. % DIy

Question Number : 166 Question Id : 2752286200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed uy ¥, IR fawcdl 8 9, 39 [aded &1 997 Y S <RI eg 1 Igt [adbed gl
Options :

1. % 3fRd

2. ¥ SDPR

3. % Sivd

4, % Pl




Question Number : 167 Question Id : 2752286201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy &, IR fadedl # 9, 39 fddbed &1 9 D off U T Teg & fo1T g1 Igsiiie Targ & 995 &1 fdded 8|

EELIN]

Options :

1. ¢ YT R d5AT § o
2. ® Jg AT HIA

3. % YT g S AgHl

4. % g g e v

Question Number : 167 Question Id : 2752286201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad Uy #, IR fased! # 4, 39 fdbed &1 994 o< Sl faU 7T Wsg & forw U8t agsilfe 90" o [dUg o1 fdbe 3l

I HIA

Options :

1. ¢ UTd R e g forads
2. % dg UM YA

3. % YTQAT g off IgHl

4. % g g fogeT via

Question Number : 168 Question Id : 2752286202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRad Uy |, IR fadeul 7 ¥, 39 fdwed &1 999 B3 ol fGT U Ueg T diH &U Bl
s

Options :




1. % e
2. ¢ 98t

3. %
4, % IhY

Question Number : 168 Question Id : 2752286202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifad uy |, IR faeddl § 9, 39 f[ddhcd &1 99 B2 SNl feT 7TU Weg BT dTqH FU Bl
s

Options :
1. % iy
2. ¢ 98
3. % 44
4. % IThY

Question Number : 169 Question Id : 2752286203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR foeddl 7 9, 39 fab ey &1 98 &3 o) 2T T Mo & TufaTeh Wec 1 Ug! fdhey et g
ol

Options :

1. v IR
2. % 9Rq
3. % 9IRG
4. % Gldq

Question Number : 169 Question Id : 2752286203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafed vy & IR foddl 7 9, 39 fdb ey &1 987 &3 &) 2T T Mo & TufgaTeh Wec &1 UE! fdhey et g
ol

Options :

1. v IR
2. % ARq
3. % 9Ikg
4. % Jddq

Question Number : 170 Question Id : 2752286204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & 3, 39 9wy 1 T B o {3 e T e 33T fAhed 5|

Options :

1. % ST
2. ¥ Id
3. #® 3flqd
4. % 3X

Question Number : 170 Question Id : 2752286204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fPrafifead Uy 5, TR faeedl § O, 39w ey &1 999 &3 il faed Teg BT Jad 3] [dhed B
SR

Options :
1. % 3Tl
2. ¥ Tid
3. % 3Iqd
4. % 3X



Question Number : 171 Question Id : 2752286205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeRad Uy & IR fabedl & T, 39 I8 fAched o1 Ig1 B3 SN IR} & foll Ueh s 1 fddh ey B
fae § giAarer

Options :
1. % f1gg
2. % GEIAY
3. ¥ glide

4. % Y

Question Number : 171 Question Id : 2752286205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofaRed Uy |, IR [ddeul 7 ¥, 39 I8! f[dmed &1 I9- B3 Sl d1aiR o o7 U Xeg, &l [ddhed Bl |

fad ¥ grare
Options :

1. % fdg

2. % gW&U
3. ¢ gifc®

4. % Y

Question Number : 172 Question Id : 2752286206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofead Uy & IR fabedl & T, 39 I8 fAhed o1 g B3 o fau 74 T & ) 31 71 Ifd fabeu
a-g

Options :



1. % JU
2. A
3. % WM
4. % GFEH

Question Number : 172 Question Id : 2752286206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffad uy A, IR foweal 7 9, 39 I8! fawed &1 7 &3 N foU 77U Wreg & TgY 31 &1 IfId fapeu 81
dag

Options :

1. % 33Uy
2.¥ 77

3. % Wl
4, ® GaHd

Question Number : 173 Question Id : 2752286207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl # 9, 39 Ug! fadwed &1 9g9 o3 o Rad RIM & oIt Iuged Weg &1 el fawed 71
&1 Hd HiST gl g |

Options :
1. ¢ G
2. % dH
3. % BidA
4. % Ppd

Question Number : 173 Question Id : 2752286207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiad ue o, TR fawenl # 9, 39 Ug! fadwed o1 999 o3 o Rad RIM & oIt Iuged Weg &1 el fadwed 71
&1 Hd HST g g |

Options :
1. ¢ G
2. % dH
3. % BidA
4. % Ppd

Question Number : 174 Question Id : 2752286208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawedl 7 9, 39 [daed &1 99 &< off Y Weg BT ol [abed 5|
Options :

L. * 3t

2. ¢ S3RY

3. % GaMdl

4. % G3M1St

Question Number : 174 Question Id : 2752286208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy §, IR el # 9, 39 fAhed &1 99 &3 ot g Vg b1 It f[ipea B
Options :

L. % gafre

2. ¢ J3R

3. % GaMd]

4. % 3Tt

Question Number : 175 Question Id : 2752286209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl § 9, 39 fawe &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

|. % SHMERY

2. % ZAMGRI

3. ¢ SAMGR!

4. ® SATGRY

Question Number : 175 Question Id : 2752286209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy §, OR el # 9, 39 fahed &1 99 &3 ot g Vg &1 gt f[iped B
Options :

1. % SAFGRI

2. % SHMIERT

3. ¢ SHMGRI

4. % SHGR

Question Number : 176 Question Id : 2752286210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vs o, TR fawenl § 9, 39 fawed &1 7o &L S foU 78 Wsg & w1 2reg &1 fawen 761 ]
Uh

Opti